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2351136717000538 | KA SCH Pt | 2 Crasi %A 184.5 [13  [#ISHHE

2351136717000527 |Gl SCHE2ERE (4% 3 5 184 |14 |#ISEEK

2351136717000030 [RHRSCHE-Bi (98 8% P8 %A 181 |15 |#WHK

2351136717001334 [pERSCHR 5B | SCHF Y e WIE 181 |15 |

2351136717000145 |8 SCEE Bt | ikl P g 180.5 |17 |#WHK

2351136717000118 |pERSCIRS-Br | RETA K P8 %A 177.5 |18 |#SRHK

2351136717000091 | 8 SCI B | 513 e 5 177 (19 [#ISEE

2351136717000517 | A8 SCHE Pt | T fd gLt %A 173.5 120 |#WSHK

2351136717000505 | S#SCHE P | =) e WIEE 169.5 |21 |

2351136717000520 | SCERERL | %Ak 3 il E A 168.5 (22 [#ISEL

2351136717000543 |RERSCIRS-Br | BIINRK e %A 168.5 122 |#5HK
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waes birbv Y% 2 LRI B £k | 55 A2 K B |HeF g B
2351136717000157 |pCERSCIRSPr |24l P8 %A 164.5 |24  |#SHK
2351136717000539 | BCHSSCHL R | ™A i il 163.5 |25 |#l5HL
2351136717001378 [RGB SCIR P | 7K S 1 P8 %A 162 126 |#WSEHK
2351136717000528 |pERSCI B | XN P8 WIEE 161.5 |27 |#SHK
2351136717000516 |8 SCER Bt | AR vKHE P g 161.5 127 |#SEHK
2351136717001191 | AR SCHEF B | a0 P8 %A 161 |29 |#SHK
2351136717000097 |BHSCHE P |8 5 3 il E A 159 |30 |WSRER
2351136717001335 [RGB SCIRSPr | KK gLt W% A 156 |31 |#WSEH
2351136717000513 | A8 SCHE P | 548 e WIEE 156 |31 |
2351136717000508 | MH#SSCHRE e |5 i E/ab: P25k 155 |33 [4l5HK
2351136717000121 | AR SCHE P | 25 P8 %A 154 |34 |#SHK
2351136717001195 |8 SCIH P | 2152 e 5 152 [35 [#WISEIR
2351136717001193 | AR SCHE Pt | XI4E P8 %A 152 135 |#WSHK
2351136717001203 [pCHRSCHES- B R a0 P8 Y ERVARS 151 |37 |
2351136717000055 | #5SCHEFE |wh4E E/abL P25k 151 |37 [4l5¢HK
2351136717000534 |pCERSCIR B | 7K MR P8 %A 150.5 |39 |
2351136717000990 | B SCHER 2Bt | X1 Bt e 5 149.5 [40 [#ISHHE
2351136717001388 [pUERSCHE P | FH+H gLt W% A 149.5 140 |#WSEHK
2351136717000512 | #8SCHE P [Tl e WIEE 149 |42 |#WSEHK
2351136717001187 |MeHSSCHRE e | FHHEfk E/aE P25k 146 |43 [
2351136717000529 [pCERSCIRPe [HEEE Crasi! %A 146 [43 [#ISHEL
2351136717000522 | Bl SCHE P (1515 i JEY SRR 144.5 (45  |[#SREL
2351136717000541 | B8 SCEEAERR |1 HER Ak Ll 143 146 |3SREX
2351136717001337 | #BSCHEEF Bt | 14 Juibis Eiars WIEE 142.5 [47 |[#ISHEL
2351136717000195 | AR SCHE P |9kt e il E A 142.5 147 |#WH
2351136717000540 | A SCHEF B | X P8 AR 141.5 |49 |
2351136717001333 | AR SCHE B | e 5 141 [50 [#WISHE
2351136717001015 |pERSCIRS-Pr |4t gLt %A 141 150 |#WSEHK
2351136717001384 |pERSCIRS-Br | MR Bk e WIEE 139 |52 |
2351136717000504 |kl SCHE2ERE (X5 e il E A 138.5 [53  [#WREL
2351136717000555 |pERSCIRS-Fr | Bh AL Ik e %A 138 |54 |
2351136717001198 | AR SCHE P | A3 e 5 137 |55 [#WISEHER
2351136717001379 |pERSCIR B | FHRess P8 %A 135.5 156 |#SHK
2351136717000549 | KA SCH P | 21 e WIE 135 |57 |
2351136717000542 |8 SCEL Bt | RIEBE P g 135 |57 |#WRHK
2351136717000941 |pRERSCIRS-Br |12 Al P8 %A 131 |59 |
2351136717000162 | A8 SCIH 4B | A1 Y T e 5 131 [59 [#WSHE
2351136717001190 |pERSCIR B | 2 4E K gLt %A 130.5 161 |#WSEHK
2351136717000067 |pCHRSCHE P | AR e WIEE 128.5 |62 |#SHK
2351136717000532 | #SCHE P | 1R 4K e il E A 128.5 162 |#KHK
2351136717000507 |RCERSCIRSPr (278 1% e %A 126 164 |
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T mER (e |RwssmReusesn B [HEEE0 g
2351136717000547 | AR SCHE Pt | 208 P8 %A 123.5 165 |
2351136717001212 [pCERSCIRSBr | TRAID e il 121.5 [66 [
2351136717000503 | A SCHE B | X /T P8 %A 121.5 166 |#SHK
2351136717000531 [pCERSCHE P |FL¥EIE P8 WIEE 121.5 166 |
2351136717000525 |MHSSCHRE LT (4R E/abL P25k 121 |69 [40l5HK
2351136717001389 [RUERSCIR P |2 HireR P8 %A 119.5 |70 |#sHK
2351136717001196 |RE#E SCHE2ERE | HHAR 3 il E A 119.5 |70 |#WSER
2351136717000535 |RE#l SCHE2ERT |2 Eiars ELplik e 117.5 (72 [#SEL
2351136717001377 | A8 SCHE Pt | B A& e WIEE 115.5 |73 |#sHK
2351136717000544 | AR SCHEF B | Xlvd e g 115 |74 |
2351136717000500 | AR SCHE P | B3 P8 %A 114.5 |75  |#SHK
2351136717000523 | 8 SCH P 1R 2K E e 5 112 |76 [
2351136717001438 | KAt M & P8 %A 111.5 |77 |#WEH
2351136717000094 |pERSCIR B | £ i 7 P8 WIEE 111.5 |77 |#sHK
2351136717000158 | H#8 LI e | #5572 e g 11179 |
2351136717000515 |pCERSCIRSPe (527N P8 %A 109 |80 |5
2351136717001387 | Bl SCHE# P | 2% 3 5 107.5 |81 |WISRER
2351136717001470 | AR SCHE P | 2= gLt W% A 107.5 181 |#WHK
2351136717001332 | A8 SCHE P | XA e WIEE 106 |83 |
2351136717001386 |#8CH2ER% (4025 E/aE P25k 106 |83 [40lsHK
2351136717001208 | A8 SCHE P | X FH P8 AR 105 |85 |
2351136717000498 | Al SCHE Pt | 224 e 5 103.5 [86 [#IS%HEX
2351136717000496 |RCERSCIR B | X195 gLt %A 103 187 |#WHK
2351136717000546 |RCERSCHE P [ REEZ e WIEE 103 |87 |
2351136717001209 | #8 L3P |5k EF e il E A 103 187 |#WRHK
2351136717001207 | AR SCHE Pt | A P8 %A 102 190 |#WsHK
2351136717001053 | Al SCHE Pt | 5K 5ib e 5 100.5 [91 [#ISEHEL
2351136717001215 [RERSCIRSBe | 758+ gLt %A 100 192 |#WSEHK
2351136717001477 [pERSCHRS P (K216 e WIEE 100 192 |[#sHK
2351136717001382 |Re#fSCER =R |k & e LA S 98 94 [USKIK
2351136717001214 | AR SCHE P | X3 e %A 98 94 |
2351136717001189 | Al SCH 4Pt | 5= i & 3 5 98 94 [USEIK
2351136717001375 |pCERSCIR B | B L P8 %A 97.5 (97 [#FEX
2351136717001383 [ BB SCHE 5P | 52 e WIE 97 98 |
2351136717000506 |RE#lSCHE2ERE (354 e g 97 98 [HUSKIX
2351136717001206 |RCERSCIRSPr (KR i71E P8 %A 95.5 100 [IMSEHK
2351136717001192 | MHBSCER Bt | BRSTAL e 5 94 101 |4USEHL
2351136717001380 [pERSCI B | fa] Kt gLt %A 94 101 |4YSEHL
2351136717000921 | AR SCHE P | B e WIEE 93.5 103 [IMSEHK
2351136717001213 | BCHSSCHE R | WA & 3 il E A 93 104 |5
2351136717000524 | AR SCHE P [T 5 e %A 93 104 |4UsRHEL
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waes birbv Y% 2 LRI B £k | 55 A2 K B |HeF g B
2351136717001205 |RCERSCIRPr (103 R P8 %A 92.5 106 [IMSEHK

2351136717000176 |F#B SCER %t | B4 1 e il 92 107 |4USEHL

2351136717001376 |pRERSCIR 2P | 25 WA P8 %A 92 107 |4USEHL

2351136717000501 | A8 SCHE Pt | 52k P8 WIEE 92 107 |49

2351136717000545 |SARSCHE2EBE |42 H 75 bt AR 177.5 USRI [ R TR
2351136717000134 [pCERSCIRPe | RA-F P8 AR 171 eSO e E YA S R |
2351136717001054 |BHSSCHE R | Mg 3 [EY AR S 167 PSR |l 157 R TRl
2351136717000510 |RE#ESCEE2ERE [ w8l Eiars Fofth i PSR | K i L
2351136717000939 [pCERSCH Pt | T IHHE e Fofth f10AE LS |8 P K il i L
2351136717001186 |RR#RSCHE BT (Wit |98 HA Gl WSREL |28t K A i ST
2351136717000116 |#BSCHEEF Pt |24 Eiars Fofth 1A LS | K il i
2351136717000536 |f#RSCHL B 11 1150 e Foft S il A PSR |48 P K S it a0 SR X
2351136717001211 | AR SCHEF P | 35K 1% Ears Fofth b i AE PRI | K i i L
2351136717000502 | BB SCIR 5B | WO P8 Fofth 1A LS |8 P K il i L
2351136717000530 |RRHRSCHE AR (044 % E/AsE HoAt Gl WSREL |28t K A i ST
2351136717001210 |RERSCIRS-Br |21 FH P8 Fofth 10 LS | K il i
2351136717000526 | F#SSCHE 245 (4L E/AsE HAbf il SREL |28t K A i S
2351136717000063 | #lSCH 4Pt | 5= F4h HEZAR B ELplik e 217 |1 SR

2351136717001020 | #8SCHE P | 3504 W 2R KT WIEE 213 (2 [WSE

2351136717001080 |BE#SSCHEFRe | 7 B W ZAR % g 213 [2 [WISEHR

2351136717000058 |pARSCHE- Bt (4= Ry it WEZARBT %A 199.5 |4 |#WSHK

2351136717000068 | BHSSCHE P | Rk E W ZAR® 5 196.5 |5 |WISREX

2351136717000979 |mER ISP | D 5K HEZAR B %A 183 16 |#WH

2351136717001077 BB SCHES Bt (#5045 W ZAR KT WIEE 183 16 |

2351136717000066 |RE#lSCHE2ERE |5k W ZAR % il E A 181.5 |8 |#lstHL

2351136717000020 | #BSCELF Pt |Bo= A W ZAR B WIEEE 179.5 9 [#ISHH

2351136717001220 |BHSSCHEFRe | Tk bifi W ZAR® 5 178 |10 |#l5HE

2351136717000154 |pCERSCIRSPr (4IRS HEZAR B %A 177 11 |

2351136717000868 | #BSCI 5P |40 2E W ZAR KT WIEE 174.5 |12 |#SHK

2351136717000867 |R#l SCHE#P | 15 74 W ZAR % il E A 172 |13 |#lHE

2351136717001277 |RG#lSCHE2ERE (2825 W ZAR B WIEE 169 [14 [#ISHEL

2351136717000049 | FHB TR Bt | 4k )i WEZAR BT 5 168.5 [15 |5

2351136717000101 |pRERSCIR P | 84 F2FE W 2R %A 168 116 |#WSEHK

2351136717000038 | R SCI B | 4RI W ZAR KT WIE 167.5 |17  |#sHK

2351136717000864 |l SCEL =R (45 IRF} WA % g 166 |18 |#lsH

2351136717001073 | AR SCEEF Bt iR/ L W ZAR B WIEEE 166 [18 [

2351136717000883 | B SCEL Bt | I WEZ AR 5 164.5 [20 |#l5H0

2351136717001278 |pUERSCIRPr | S+ HEZAR B %A 164.5 120 |#SEHK

2351136717000017 [pCHRSCHES Bt (9 i W 2R KT WIEE 163.5 |22 |

2351136717001075 |BHSCHEFPe | H e W ZAR % il E A 162.5 |23 |#l5HL

2351136717000869 | #BSCHE Pt | BEEG A W ZAR B WIEEE 161 (24 [#ISHEL
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2351136717000871 | Al SCHE 4B | 3% 5L W ZAR B WIEE 161 [24 [#ISHEL
2351136717000062 | B SCER Bt | 2240 )L WEZARBT il 160.5 [26 |45
2351136717000880 | S#l SCHE P | 5K ik WEZAR B %A 160 127  |#WSEHK
2351136717000969 |RpCERSCHE Bt (MR SCF W ZAR KT WIEE 159.5 |28 |
2351136717000019 | BHSSCHE R [TLUKX, W ZAR % g 154.5 |29  |#l5:HL
2351136717000117 |pERSCIRZ-Be | Ak WEZAR B %A 153 |30 |
2351136717000875 |MHRSCHR Bt | XIHE =5 WEZARBT JEY VAR S 152 [31 [#WISHE
2351136717000083 | B8 SCHE2E R | FKAE KRB B 150 [32 4Ll
2351136717000879 | A8 SCHE P | 24 W 2R KT BRI R 149.5 |33 |
2351136717000920 |BHSSCHEFPE | 525 9E WA % g 149.5 |33 |#l5HL
2351136717001279 |pERSCIR P | RFEFL W ZAR B %A 149 35 |#WSRHK
2351136717001013 | 8 SC3H 2B | & 520 WEZARBT 5 147 (36 |#FH
2351136717000057 |RERSCIR B (X1 23T W 2R %A 146 (37 |#WFHEL
2351136717000885 |RUHRSCHE P (24584 W ZAR KT WIEE 144.5 |38 |
2351136717000124 |BHSCHEFRe |2 Hbn W ZAR % g 143.5 (39 [#SEEL
2351136717000866 |RCHR SCHE-Bi [AETT 7% WEZAR B %A 143.5 139 |
2351136717000886 |l SCHE P | faTfk W ZAR® FoAth Sl A PSR |84k et s
2351136717000870 | #BSCHEE Pt |42 0T BH HEZAR B Fofth i A PSR IR | 28 P K A gD R
2351136717000966 | F&#BSCHE Bt | J& ik W ZAR B FoAth Sl A PLEEL |8k ikt gt i
2351136717000284 |l SCHE2ERE |58 21t g 241 (1 [WISEHR
2351136717001235 [pCERSCI P |FLE% &% 21t %A 235.5 [2  [#WISEX
2351136717001230 |RHSCHLERE |FRNLAR 21t 5 228.5 (3 [WISEHK
2351136717000282 | #lSCHE 4Bt | 259 2t ELplik e 228 14 [WISEH
2351136717001132 | #B TP | Sk E 21t WIEE 227.5 |5 [ISEHK
2351136717000233 | BLHSSCHEF R | HmAH 21t il E A 223.5 (6 [WISEHX
2351136717000258 |pUERSCIR P | £ 21t %A 223 |7 [WSEX
2351136717000275 |BHSSCHE P | R HEH 21t 5 222 (8 [WISEHR
2351136717000298 |pCERSCIRS-Fr | IE W 2t %A 220.5 9  [#FE
2351136717001131 |#BSCHE Pt |REALFS 21t WIEE 220.5 19 [ISEHK
2351136717000039 |BHSCHEFRe | TR A 21t il E A 220 |11 [#misEc
2351136717001243 | AR SCHL P | 32075 =it WIEE 216.5 |12 [SEHK
2351136717000915 | 8 SCH 4B |3 4R it 5 216 |13 [
2351136717000108 | A SCHE P | 2= it %A 215.5 (14 [#IFE
2351136717000293 | #8SCHE Pt | 5K FF 21t WIE 215.5 [14 [#ISEX
2351136717000283 | Rl SCEL =R (45 EFS 21t g 214.5 116 [#ISFHK
2351136717001134 | A SCHE Pt | 53 21t %A 213.5 [17 [#WSE
2351136717000242 | A8 SCI e |2 T it 5 212.5 |18 [SKIK
2351136717001242 | AR SCH 4Pt | ERK % 2t WiE 212.5 |18 [ISRHK
2351136717000987 | R SCH 5B | #HF H 21t WIEE 212 (20 [#WISEEX
2351136717001231 |BHSSCHEFPr | B 21t il E A 212 120 [ISREK
2351136717000037 |pCERSCIR P (IS =it %A 210 (22 [WISEX
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waes birbv Y% 2 LRI B £k | 55 A2 K B |HeF g B
2351136717000286 | #l SCHE Bt |7k B2 it WIEE 209.5 |23  [USEHK
2351136717001184 |R#SSCH R [ARIiH] 21t il 208.5 |24 |#iEK
2351136717000269 | H#BSCERE Bt | FIMY 2t %A 208.5 [24 [#FEX
2351136717000292 | A SCH 4Pt | MR 12 21t WIEE 206 |26 [IMSEHK
2351136717000260 |l SCER =R |8 751 21t g 205.5 |27 |#misE
2351136717000289 | Al SCHE B | R 21t WIEE 205.5 |27  [SKHK
2351136717000296 | AR SCHE P [/ Y 21t il E A 205 [29 [WISRHR
2351136717000099 |RERSCI P (X1 2 it W% A 204 (30 [#LFEX
2351136717000274 |l SCE2ERE [#8l 21t WIEE 204 |30 [IMSEHK
2351136717000268 | BHSSCHEFPi | MLk E 21t g 201.5 |32 [ISREK
2351136717000238 |pUERSCIR P |2 ER 21t %A 201 [33 [#WISEX
2351136717000261 |B#lSCEL =R [HURIG 21t 5 200 [34 [WISEHR
2351136717000977 | A8 SCHE P |2 ik it %A 199.5 135 |#WSHK
2351136717000952 | AR SCHE Bt | Syl =it WIEE 199 136 |
2351136717000267 |BHSSCHEFR | T 21t g 197 |37 |#lsE
2351136717000189 | Al SCHE P | 5288 it %A 196 |38 |#SRHK
2351136717001351 |Gl SCHE2ERE [ H] 21t 5 195 |39 |#WSRER
2351136717000281 | AR SCHL P | KRFS 2t W% A 193.5 140 |#WSEHK
2351136717000107 |pERSCIRSPr | FAEAE =it WIEE 192 |41 |#WSHK
2351136717000246 |l SCHE2ERE 4R TH 21t g 190.5 [42  [#SEL
2351136717000946 | #BSCHEF Pt | RFTH 21t WIEEE 190 [43 [#ISHHE
2351136717000294 |Gl SCHE2ERE (A28 21t 5 189 |44 |#ISEEK
2351136717001066 |RERSCIR =B | #F ik it %A 188.5 145  |#WHK
2351136717000285 |pCERSCHE B AR =it WIEE 186 |46 |
2351136717000266 |l SCER =R (48} 21t il E A 186 (46 [#WISHEL
2351136717000288 | KA SCHL Pt | 1% 21t %A 185 |48 |#SRHK
2351136717001345 |8 SCIH4Fe | 230 H it 5 184.5 (49 |#lFHt
2351136717000256 |RERSCIR =B | EHRR K 2t %A 183.5 150 |#SEHK
2351136717000132 |pER SO B | EAEH 21t WIEE 183.5 |50 |#sHK
2351136717000272 | Rl SCH2ERE [ H#) 21t il E A 181.5 |52 |#ls:HL
2351136717000299 | AR SCHE Pt | %2R 21t %A 180.5 |53 |
2351136717000295 |BHSSCHL R |l i RE 2t 5 180.5 |53 |fWISEX
2351136717000130 |#BSCHEF Pt |BR T g it SRk e 180 [55 [WEX
2351136717001342 | Rl SCE2ERE | P9k 21t WIE 179 [56  [#ISHEL
2351136717001241 |R#SSCEL =R (455005 21t g 179 |56 |#l5HEL
2351136717001062 | #SCHE P | 2115 it %A 179 156 |#SHK
2351136717000273 | Bl SCHEERE |11/ 21t 5 178.5 159  |WSEX
2351136717001133 BRSO -Be | B80S 2t %A 178.5 159 |#WHK
2351136717000248 | AR SCHL Pt |95 21t WIEE 176 |61 |#WsHK
2351136717001057 |REH#ESCHE2ERT |24 21t il E A 175 (62 [#WSEL
2351136717001346 | AR SCHEF Pt |41 21t %A 173.5 163 |#sHK
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2351136717000893 | #SCHE Pt | 5K i 21t %A 173 164 |#SHK
2351136717000297 | SCEL Bt | B RN ik 21t il 172 [65 [#ISHHEL
2351136717000090 | #lSCHE 4Pt | LA 2t ELpliE e 171 |66 [#3EL
2351136717000021 | #8SCHE P | F 5 21t WIEE 171 166 |
2351136717000291 |BHSSCHE SR |7k IT 21t g 170.5 |68  |#l5:HL
2351136717000262 |pCERSCIRSFe |FRkTG 21t %A 170 169 |#WsHK
2351136717000933 | Rl SCHE2ERE | 3 21t il E A 169.5 |70 |#WSEEX
2351136717001236 |RCERSCIRS-Br (Y8 it W% A 169 |71 |#WEH
2351136717000240 | #8SCHE P | 5K V% 21t WIEE 169 |71 |
2351136717000249 |BGHSCHEFRE | mib e 21t g 167.5 (73 [#SEL
2351136717000241 |l SCEE2ERE (173 21t WIE 167.5 [73  [#ISHHEL
2351136717000263 | A SCH Pt |17 21t 5 167.5 |73 |#ISEEX
2351136717001239 [RERSCIRS-Pr |15 EIFR 2t %A 167 176 |#WSEHK
2351136717000259 |pCERSCHE P 1A 55 21t WIEE 166.5 |77  |#SHK
2351136717000232 | B SCER =R (42 ik 21t g 165.5 (78 [ EL
2351136717000255 |RCERSCIRS-Fr | FE R H it %A 165 |79 |
2351136717000279 | R SCEL =R | e E0E 21t 5 163 |80 |fWISEX
2351136717001352 | AR SCHE Pt | 21 2t W% A 163 180 |#WSEHK
2351136717000965 |pERSCI P |FR=F16 21t WIEE 162 |82 |
2351136717000953 | B#R SCHE# Pt | S0 21t g 161.5 |83 |#l5:HL
2351136717001240 [pCERSCIRSPr (HhERLL it %A 159.5 |84 |#SHK
2351136717001065 | SCELERL | 1 4Bk 21t 5 157 |85 |WSRER
2351136717001451 [pERSCIR B | TR i 2t %A 156.5 186 |#SHK
2351136717001457 |pERSCIRSBr | B+ % 21t WIEE 154 |87 |
2351136717001064 |B#HSSCHERE (X141 21t il E A 150. 5 (88 [{WIHEX
2351136717000252 |BCERSCIR B | £ R 21t %A 147 189 |
2351136717000247 |R#ESCER =R | 52 0N 21t 5 146.5 190 |WI5RHEX
2351136717001233 | AR SCHE Pt | M4 2t %A 146 191  |#WSEHK
2351136717001237 |l SCEE2ERE [Tk 21t JEA A S 145 |92 |[#ISHE
2351136717000265 |RE#lSCHE2ERE [#5% 21t il E A 143.5 (93 [#WEEL
2351136717001344 | AR SCHE 4B | JE AL e =it WIEE 141.5 [94 [#ISHHEL
2351136717001060 | Ml SO~ P |18 B % 2t 5 140 195 |#WSRER
2351136717000257 | #RSCHL 4Pt | 2= iR it SRk e 139.5 (96 [#HEL
2351136717001341 | AR SCH Pt | & w4t =it WIE 136.5 [97 [#ISHEL
2351136717001446 |RGHSCHEFPE |TKEE 21t g 134.5 (98 [#WEL
2351136717000912 | #BSCHEF Bt | 405 3 21t WIEEE 134.5 [98 [#ISEHER
2351136717000245 |R#ESCER =R (F2HHE B 21t 5 132.5 (100 [#h5EHL
2351136717000949 | A8 SCHE P | BRR 2 2t WiE 132|101 [#5EL
2351136717000239 |pERSCHE 5P | 4 41 =it WIEE 131 [102 [#ISHEL
2351136717000278 |BHSSCHEFRe | MRtk 21t il E A 131|102 |#l5HE
2351136717000179 | AR SCHE Pt |VEHE =it %A 131|102 |[#ISHEL
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2351136717000271 [RCHERSCHEBi (# K75 21t LR 182.5 e G e =Y S R |
2351136717000244 |R#fSCER =R (ki 21t JEY VAR S 168 PSR | 57 R TRl
2351136717000287 | Bl SCHE# P | Fi 2435 it JEY SRV S 163 PISRHC | @R 7R T4
2351136717000250 | #SCH 4Pt | 2200 =it Fofth b1 AE LS | P K il i L
2351136717000251 |BHSCHE R [ E 21t FoAth Gk AR W Bk ik it B
2351136717000243 | Rl SCHE2ERE U7k 21t Fofth 10 L5 ﬁé‘ﬁtﬁt%ﬁﬂ%ﬂx
2351136717000253 |8 SCER Bt | £ HEVD it B il WA R iRl
2351136717000235 |Gl SCHE2ERE | 194 2t B i ISR B et B3
2351136717001023 | Al SCHE 4B | 5K 4 21t Bt iR PISRHL R Fe iR .51
2351136717000237 | AR SCEE Bt | 4R 48 )| 21t Bt ik AR PISRHL R Fei R .51
2351136717000790 |#BSCHEE Pt |43 & THENBHEAR  [EE %A 219.5 |1 [SEHK

2351136717000785 |R#fSCEL =R [F A RS AR [EE%E 219 |2 |#misE

2351136717001012 | A8 SCHEF Pt |8 A e RS AR [EE%E 216.5 |3 [#lsEEe

2351136717000792 | A8 SCHE Pt | 250 %% THENLS HER | s 215.5 |4 [#sEHE

2351136717000184 |l SCER =R | ¥ HHE THENS HER s 210.5 |5 |#misE

2351136717000164 |l SCHE2ERE [1R4n THENBHEAR  [EE %A 210.5 |5 [IMSEHK

2351136717000787 |BHSSCHEFRe |45 5l RS AR [EEHE 208.5 |7 |#misE

2351136717000804 |RE#l SCHE2ERE [#4ML RS AR [EaEEE 208 |8 [lsEEM

2351136717000800 | S#lSCHE 4 F |8 )] THENLS HEAR | s 203 |9 [HisEEK

2351136717000781 | BHSSCHEFRE | XI5 F THENUS HER | s 202.5 10 [#isE
2351136717000794 | A SCH 4Pt | B = THENBHEAR  [EE %A 201.5 |11 [ISEHK

2351136717000797 |BGHSCHL R |4RAER: RS AR [EEHE 200 |12 |#misE

2351136717001029 |#BSCHEF Pt | 5 5 ik RS AR [EaEEE 198.5 |13 |#hatHEn

2351136717000793 | Rl SCHE2ERE ¥ 7 THENBHEAR (A4 196 [14  [#ISEEL

2351136717000791 |BHSCHEFPe | £ 85 THENS HER s 193 |15 |#l5HE

2351136717001182 | AR SCHE P |BRAE S THRENUS HEAR | s 191 |16 |#FE

2351136717001287 |BHSSCHLFRE | fi] & 4+ RS AR [EEHE 190.5 |17 |#l5H

2351136717001179 | AR SCHEF Pt | ZEbiBE RS AR [EaEEE 189 |18 |#WhatHEn

2351136717000788 | Al SCHE 4B | THENS HER | s 187 |19 |#IFE

2351136717000805 |R&#lSCHEERe |FLE THENS HER s 185.5 |20 |#l5:HL

2351136717000786 | St SCHE 4 Fe | Fin 1] THENBHEAR  [EE %A 185 [21 [#ISEHER

2351136717001291 |B#ESCER =R (4 Ak RS AR [EEEE 185 |21 |#lsHEL

2351136717000799 | #BSCHE Pt | £ ENE HEHNHEAR s E 182 (23 [#WSEEX

2351136717000789 | #l SCHE 4B | 5K NN THENUS HEAR | s 181.5 [24  |HWI5HHEL

2351136717001288 |RCHSCHL R (i vG ] |IHEANS AR [HaEHE 180 |25 |#lskEY

2351136717000133 | Al SCHE B | X8 ik A THRENUS HEAR | s 173.5 [26  |#Wl5EHEL

2351136717001292 |BH IR |BARA RS AR [EE%E 172.5 |27 |#l5H

2351136717000135 | AR SCHEEF Bt | XImAk RS AR [EaEEE 172.5 |27 |l

2351136717001293 | #BSCHE Pt | 40k THENS HER | s 172.5 |27  |#IFE

2351136717001289 |R#SCER =R (SR A THENS HER s 170 |30 |#lskHEe

2351136717001422 |R#lSCHE2ERT ()1 THENUS HEAR | s 169  [31 |HWl5EEL

o
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2351136717000802 | #BSCHE Pt | LM THENLR B 169 [31 [#ISHHE
2351136717001011 |BHSSCHL R | MR Ab % THEALS R 168.5 |33  |fWISEEX
2351136717000782 |l SCHE2ERE (#4% TR R 165.5 (34  [#SEL
2351136717000796 |#BSCHL P | ZERF 4 THENLR FH HAR 164 [35 [#WSEEL
2351136717001294 |RHSCERERL (AR H & THENLR FHHR 158.5 (36 [
2351136717000803 | Bl SCHE# P | 4248 THENLR FH HR 156 [37 [#WSREL
2351136717000950 |BC#SSCHEFRe | TR THEALS R 155 |38 |HWISRER
2351136717000940 |#BSCHE Pt |2 £ TR R 154 (39 [#WSEL
2351136717000963 | Al SCHE 4B | X 2 5 THELR FH R 152 (40 [#SEEL
2351136717000806 |kl SCHE2ERE [Tk THENLR FH AR 146 (41 [#WSEEL
2351136717001030 | Al SCH 4Pt | 355 3% THENLR B 145.5 [42 |[#ISHHEL
2351136717000801 |p#fSCEL =R 4] % TR R 142.5 |43 |#ISEEY
2351136717001178 | Bl SCHE P | B+ TR R 142 (44 [#WSEEL
2351136717001420 |l SCHE2ERE IR THENLR FH AR 139.5 [45 [#ISEHEL
2351136717000196 |BCHSSCHE R | % THENLR FHHR 139 (46  [#WSEEL
2351136717000798 | #lSCHL 4Bt | TR A% e THENLR FH HR 135.5 [47 [#ISHHEL
2351136717001295 |R#lSCERERE [VF NG THEALS R 131.5 |48 |#SEEX
2351136717000795 |RE#lSCHE2ERE [ %L TR R 121 (49 [#WSEL
2351136717001421 | A8 SCHE P | 7K 3 THENLR AR 118 [50 [#WEEL
2351136717000026 |p#l SCHE# Pt | # NI THENLR FHHR 114.5 (51 [#WSREL
2351136717000300 | S#SCHE Pt | BRF R LR 206.5 |1 [#WSEX
2351136717000310 |BHSSCHL R | MR IR 5 R TR R 187 |2 |#ISEEK
2351136717000301 |RERSCIR B | 258 AW TAE 176.5 |3 |#WH
2351136717000302 |RCERSCHE Pt |FRifE 2 R TR 170.5 |4 |#WsHK
2351136717000307 | Al SCHE Pt | B2 BET R TR R 169.5 |5 |#ISREX
2351136717001137 | AR SCHE Pt |25 R TR 164.5 16 |#SHK
2351136717000303 | A SCHE P VL4 R TR 160.5 [7  [#ISHEL
2351136717000306 |RBCARSCHE- B (24505 % BN TR 159.5 18  |#WHK
2351136717001139 |#BSCHE P | BE AR UG R TR 159.5 [8  [#WISHE
2351136717000305 | #8SCH e | B R IR 155.5 |10 |#SHK
2351136717000308 [RCHRSCHEBi | F 7 BN TR 136.5 |11 |#SHK
2351136717000186 | A SCH Pt | B A R TR 125 |12 [
2351136717000100 [RERSCHEPr [EREE AW TAE 120.5 |13 |#WSEHK
2351136717001244 | S#BSCHE Pt | AEAABE v TR 102.5 [14 [#ISEEL
2351136717000311 | Bl SCHE P |15 TR R 98 15 |[#ISHE
2351136717000309 | A SCH 4Pt |5 118 R TR R LS | K il i L
2351136717000312 |8 SCER Bt | AREIR R TR T filA e G PGY s A A LY |
2351136717000471 |pERSCIR B | AR+ % SRE 206 |1 [#WISEX
2351136717000465 | #lSCH Pt | BAER BRbE 197 [2  [#WISHE
2351136717000468 | AR SCHE P | 5K & BRbE 194.5 |3 |#ISEER
2351136717001095 | A SCHE Pt | B 7R RE 187.5 [4 [
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waes HEIEBE L 2 LRI B £k | 55 A2 K B |HeF g B
2351136717000466 |pERSCIR =P | £HJALE &R B %A 179.5 |5 |#hFH

2351136717000968 | il S HEBE | 4 Rl B HEHE 179 |6 |USEHL

2351136717000009 [pERSCHE P (4= S b g %A 178 |7 |#WSEH

2351136717000472 | AR SCHE 4Pt |0 5 BRE WIEE 171.5 [8  [#WISHHE

2351136717001014 | A SCHE 4Pt | SR 55 & R g 166.5 19  |#ISEEX

2351136717001004 |RREBSCIR B | 53Uk S Rl iE B %A 166 |10 |#SHK

2351136717001097 |l LB ERE | T /25 Rl B HEHE 162 |11 |3k

2351136717000477 |F#FSCH 2% | 408 TG A Ll 197 |1 |3

2351136717000481 |/#lSCH 2% [ R TG i i 194.5 |2 |USEEL

2351136717000482 |R#R LBt | BAk H )5 g 185.5 [3  [#ISHR

2351136717000479 | sl SCHE2EBE | X158 TG 5 Lepliieges 183 |4 |4USEHL

2351136717001282 | 8 SCIH B | = B )5 5 166 [5  [#WISHHE

2351136717000469 |RCERSCIRS-Fr | S )5 B JEY RN 158 16 |#WSHK

2351136717000486 |/ ARSCHLEPE R4S 55 TG i 2 A% 156 |7 |WSREK

2351136717001272 | S SCH B | X4 5 )5 g 139 [8  [#WISHE

2351136717000899 | AR SCHE Pt | BRIl )5 P %A 138.5 19 |#sRHK

2351136717001374 | A8 SCHE P | £ )5 JEA VAR S 136 110 |#HK

2351136717000485 | e#l SCHE2EBE | 83 C TG Ll 133 (11 [30USEE

2351136717001456 |f&ARSCHLEPr |REFABE TG i A% 113.5 |12 |USEHL

2351136717001094 |BHSSCHEFR | M3 )5 JEY VAR S 177 PISRHC | @R 7R T4
2351136717000917 | BB SCH 2Bt |fi 14 9 ik R HoAth ik 4 FSEHL |20 K G ik SR
2351136717001479 | B SCER B | 84 ST )5 BEY (R R e G PGY s A A LY |
2351136717000480 |p#ERSCIR-Pr | 2228k i %A 178 |1 |

2351136717000478 | AR SCHE Pt | B DG s WIEE 174.5 [2 [

2351136717000888 |l SCEL =R | 518 i il E A 159.5 |3 |#ls:He

2351136717001092 |pRERSCIR =B | 7K T2l i %A 150.5 |4 |#hFH

2351136717000495 | SCER =BT [ 2Tk i 5 143.5 |5 |#l5HE

2351136717000484 | BB SCIR B | SC 1 L %A 143 16 |#WRH

2351136717000971 |#BSCHE P | 7K 2 A 7 afe 45 WIEE 139 |7 [#WSHE

2351136717000989 | BHS SCHE R |4+ ST i il E A 135 |8 |#lskHe

2351136717001093 [RCHRSCHE-Bi 7 ic [F] i %A 128.5 19 |#WSHK

2351136717001273 | Rl SCHE2ERE [ HikE i 5 122 |10 |#ISEER

2351136717001217 [pERSCIRSPe | w5 i %A 105.5 |11 |#WSHK

2351136717000123 |#BSCHL P |24 i Fofth b1 PSR | P K il D L
2351136717000483 |l SCHE2ERE | T 4% i FoAth G ik AR PSR |88k et s i
2351136717000013 | B8 SCEE2ERE | X4k it L Lepliieges 202.5 |1 |[WSEEL

2351136717000018 | #lSCHREFE | 451387 Jite i 5 2 i@ A 197.5 (2 [3SEH
2351136717000489 | #SCHH 2 e X3 Jite i 5 2 B 182.5 |3 |3l

2351136717000907 | #l SCHE2ERE | B4R it B HEE 179.5 (4 |WSREL

2351136717000492 | #8 LI B |5 Bk i il E A 170.5 |5 [#WISHHE
2351136717000490 |RpERSCIEPr [ARLLER ik %A 163.5 16 |

%16 T, 27 W




e

HEIRBEAL

IR IA B Tk

=5

HEF

RER

R
2351136717001089 | AR SCHE Pt |38 5 3% ik 155.5 |7 [#ISHHE
2351136717001090 |RE#ESCHE2ERE | e ik 150.5 |8  |#WISEX
2351136717001202 |pRERSCIR P | 1R LIS ik 147 19 |#WSEH
2351136717000491 [pCERSCHE 5P |2 7k B i 142.5 110 |#sHK
2351136717001091 |8 SCHF Pt | dabih 35 i 142 |11 [#WSEE
2351136717000488 | A SCHL Pt | = B i 142 |11 [#WISEE
2351136717000487 |8 SCHL Bt | A% ik 129.5 [13 [#ISHHEL
2351136717001088 | Al SCHE Bt | ] (22 4% i 123.5 (14 [#SEL
2351136717000493 | K #8SCHE Pt | WhaE 2 i 123 [15 [#ISEHEL
2351136717001444 |8 SCERFBE | 8 7Kk i 107.5 |16 [#ISEHEL
2351136717000494 | A SCHE 4Bt |4 > ik PSR |48 P K A PSR IR
2351136717001169 |l SCH2ERE |20 P 45 91 238.5 (1 [WISEHK
2351136717000596 |RERSCIR 5P | T BRI P 45 941 238 (2 [#WFE
2351136717000635 |pERSCISPr | 8 41 % e & 230 [3  [WISEX
2351136717001028 |BHSCHEFPe |1 5K P 45 SEiE 229.5 (4  [WISEHK
2351136717000602 | #lSCHL 4Pt | B2 P 45 JEiE 225.5 |5 [ISKHK
2351136717000585 |BHSSCHE R | T ki P 45 91 223.5 (6 [WISEHK
2351136717000594 |pCERSCIRSPe (4016 P 45 91 221.5 |7 [#FE
2351136717000599 | #BSCHE Pt | Bhiveid P 45 JEiE 221.5 |7 [SEHK
2351136717000610 | AR SCHEE Pt | 5 /= FH P 45 SEiE 220.5 [9  [WISEHR
2351136717000616 | #lSCHL 4Bt | Mt e (5 P 45 JEiE 219.5 [10  [WISEHL
2351136717000970 | B SCER =R (B %% R 216 (11 [WISRHR
2351136717001327 |pERSCIR =B | R AR P 45 91 215.5 (12 [#IFE
2351136717001045 | AR SCHE Pt | D880 P 45 JEiE 212.5 [13  [WISEHK
2351136717000617 |RE#ESCHE2ERT KR P 45 D1 211 |14 SR
2351136717000611 | AR SCHEE Pt | 4 HRi P 45 SEiE 210.5 [15 [ISRHL
2351136717000978 |BHSCHL P | FiEth R 209.5 [16  [WISEHL
2351136717001007 | Al SCHE 4B | TR AR P 45 91 208.5 |17 [SEHK
2351136717001068 | #lSCHE 4Pt |25k & P 45 JEiE 206 |18 [IMSEHK
2351136717001170 |R#ESCER =R (X205 P 45 D1 204.5 119 [ISEEK
2351136717000605 | S#8SCHE P |21 [E 202.5 (20 [#IS5EX
2351136717000093 |BHSCHL R | VPR R 202.5 (20 [WISEHL
2351136717000609 |#BSCHE Pt |FE K RE [E & 201.5 |22 [ISEEK
2351136717000620 | S#lSCHE 4P | B4 4t PRI 45 JEiE 201.5 [22 [WISEHL
2351136717000983 | B SCEL =R [ 4] SOk P 45 SEiE 201.5 |22 [ISREK
2351136717000102 | A8 SCHE Pt | KB P 45 SEiE 201.5 [22 [WISRHK
2351136717001002 |BHSSCHEF P | BFH 2L P 45 D1 200.5 [26 [WISEHL
2351136717000601 |pERSCIR P | 15522 P 45 91 199.5 127  |#WEHK
2351136717000627 |l SCHE2ERE [ P 45 JEiE 196 [28 [#ISHEL
2351136717000050 |BEHSSCHE R |FLB{EH P 45 D1 195.5 |29 |#SREX
2351136717000593 | Rl SCHE2ERE [ 24=H P 45 SEiE 195 (30 [#ISEHER
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2351136717000607 |RE#l SCHE2ERE (X5 T 45 JEiE WIEE 194.5 [31 [#ISHEL
2351136717001035 |8 SCH B |48 MR P 45 SEiE il 193 [32 [#ISHHE
2351136717001321 |pRERSCIR P |8 K32 e %A 192.5 (33 |#h5H
2351136717001393 |l SCHE2ERE | %3 P 45 JEiE WIEE 192 [34 [#ISHEL
2351136717000608 |kl SCHE2ERE (243K R & g 191.5 (35 [#WEL
2351136717000614 |l SCHE2ERE |HRAe P 45 JEiE WIEE 191 [36  [#ISHEL
2351136717001048 |l SCHE2ERE [Tk P 45 SEiE il E A 190.5 |37 |#l5HL
2351136717000603 |pRERSCIR =B |01 e W% A 189 138 |#WHK
2351136717001046 |#BSCHEF P |FFE R P 45 JEiE WIEE 188.5 [39 [#ISHEL
2351136717000961 |BHSCHE R [HHEZ P 45 D1 g 188 (40 [#WSEEL
2351136717001041 | A SCH 4 FE |1RBi 1R T 45 JEiE WIE 188 [40 [#ISEHER
2351136717000931 |Gl SCHE2ERE | T A7 P 45 91 5 187.5 |42 |#l5HL
2351136717000006 |pRERSCIR =B | 48 =1R P 45 941 %A 187.5 142 |#WEHK
2351136717000604 |RE#l SCHE2ERE F4RE P 45 JEiE e SRV S 209 G e VAR R |
2351136717000600 |R&#SSCHLERE [{H N4 P 45 SEiE FoAth Gk AR PSR IR | 28 P K A PSR R
2351136717001326 | #BSCHL Pt [T H P 45 JEiE Fofth 10 LS | K il i
2351136717001318 |l SCEL =R |30k P 45 91 FoAth Sl A P Bk ik it B
2351136717000592 | Al SCH 4Pt | 255 AR U] S pliikas 184.5 (1 [#SEL
2351136717000551 | #lSCHL 4Pt | mrFhiE kg WIEE 178 [2  [#ISHEL
2351136717000561 | S#lSCHE P | 2 G AL =] g 178 |2 |#FHE
2351136717000582 | AR SCHE Pt | X ek %A 173.5 |4 |#WsHK
2351136717000173 | A SCHE2E B | B4k Bk RN il 4 173.5 |4 |3USEHL
2351136717001330 [RCHERSCHEBi [V AR AR LN %A 172 |6 |#WhaEL
2351136717000578 |l SCHE PR |TRFE kg WIEE 166.5 [7  [#ISHHEL
2351136717000586 |8 SCH i |4 2 AN =] il E A 166 |8 |l
2351136717000573 | Rl SCHE2ERE ¥4 3H: HeEE WIEEE 166 [8  [#ISHEL
2351136717000065 |BHSSCHE R | TRiRiR LN 5 164 |10 |#l5HE
2351136717000558 |RCERSCIRS-Fr | FE B AR LN %A 160.5 [11 |l
2351136717000557 | #lSCHL 4Pt | SCE 5 AR U] WIEE 160.5 [11 [#ISEEL
2351136717000927 |RHSCHLERE (#ABER |k E il E A 159 |13 |#l5H
2351136717000185 | Al SCHEE Pt | ok FOwE ek WIEE 156.5 [14 [#ISEHEL
2351136717000905 | Al SCH 4P | 581 AN 5 154.5 |15 |#l5H
2351136717000553 |pCERSCI AP |15 7 (AN U] %A 149 |16 |#haEL
2351136717000059 | S#SCHE B | % AN U] WIE 146.5 |17 |#sHK
2351136717000565 |RHSSCHL =R 25 44 AN =] g 146 |18 |#lsH
2351136717000032 | Al SCHE P | E35 IR ek WIEEE 145 [19 [#ISHEL
2351136717000563 | SCER Bt | XIFEFS LN 5 143.5 [20  |#l5H0
2351136717000571 |Gl SCHE2ERE |4 R AR LN S pliikas 142.5 (21 [#SEEL
2351136717000567 |#BSCEL Pt |2 AL kg WIEE 141.5 [22 |[#ISHHEL
2351136717000568 | #lSCHE P | A fik AN =] il E A 140.5 (23 |45
2351136717000579 | AR SCHE Pt | 5K 4 ek %A 139.5 124 |#SHK
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2351136717000085 |kl SCHE2ERE [T ek WIEE 137.5 [25 [#ISEHER
2351136717000575 | Bl SCHE# P X & AN LN il 137 |26 |#ISEER
2351136717000110 | #lSCH 4Pt | HifgA: AR U] S pliikas 134 (27 [#WSEEL
2351136717001390 |pR#ERSCIRS-Be | ) [ 57 ek WIEE 132.5 |28 |
2351136717000576 | #8 LB | gk R ks g 132 |29 |40
2351136717000548 |l SCHE2ERE [ {28 ek RS R 131.5 [30 [#ISHEL
2351136717000552 | A SCHE2E B | 35— U4 AN fepliikges 131 (31 |4BlsRHE
2351136717000587 |kl SCHE2ERE [Tk AR U] S pliikas 131 (31 [#W5EL
2351136717000041 | Al SCH 4Pt | £ &% AN U] WIEE 130 [33 [#WISHHEL
2351136717000112 |BC#SCHE R | B KA AL =] g 128.5 |34 |#l5HL
2351136717000566 |RERSCIRS-Pr | ZIEN HeEE %A 127.5 |35  |#SRHK
2351136717000562 | 8 SCIH P |5k 4 4 LN 5 127.5 (35 |#l5H
2351136717001049 | AR SCH 4Bt | Fh i AR U] S pliigas 127 (37  [#WSEEL
2351136717001051 |#BSCHEE P | 36 43 HeEE WIEE 126.5 [38 [#ISHEL
2351136717000583 | BLHSCHE P | #2148 AN LN LA S 126 |39 |l
2351136717000951 | AR SCHL 4 PE |42 TR ek WIEEE 126 [39 [#ISHHEL
2351136717001436 | AR SCHE P | B R ek E 5 124 |41 |#FH
2351136717000181 |8 SCHE P | £ 2 AR U] S pliikas 122.5 (42 [#SEL
2351136717001052 |pERSCI B | D /N5 kg WIEE 120 |43 |#WSHK
2351136717000570 | 8 SCIH B |ARI0HH AL =] g 119 |44 |#h5H0
2351136717000554 | #BSCHEEF Pt | 50T ek WIEEE 115 [45 [#ISEHER
2351136717000581 | il S B2 BE | T #r Hi RN fepliikges 114 |46 |WSREL
2351136717000580 | Al SCH 4Pt |22 )] AR LN S pliikas 113.5 (47  [#5EL
2351136717001050 |pCERSCHE5Fr |20 EH HeEE WIEE 111.5 |48 |
2351136717000577 | 8 SCI B |0 & 54 AN =] il E A 109 (49  |#lFH0
2351136717001047 [pCERSCIRPr |3 RIE ek %A 107.5 |50 |#5HK
2351136717001435 |R#SCHERE (Al |tk E 5 107.5 |50  |#l5:HL
2351136717001391 | AR SCH P | w2 ) AR LN ELpliE e 106 |52 |#hsE
2351136717000564 | #8SCHE P | Fhéd AR U] WIEE 105 |53 |
2351136717000973 | Rl SCHE2ERE | # i AN =] il E A 103.5 |54 |#l5:HL
2351136717000938 |l SCHE2ERE (B ek Fofth 10 LS | K il i L
2351136717000569 |H#SCEL =R | fiE AN FoAth Sl A PSR |84k bt s
2351136717000560 |#lSCH 4P |MHs B (AN U] Fofth i PSR IR |28 P K A DS R
2351136717000884 | #l SCHE P | J& B AN U] B il e S R Fe iR L5
2351136717000821 |BHSSCHE R | #RAIH Hr AR N BOR | 8% 296.5 |1 [#isE
2351136717000829 | Jl#R ST 24 | HEHL B AR RN R (38 2%5 A4 224.5 |2 |[#mFEK
2351136717000814 |BHSCHEFFe |7k TIH B A B BOR | il 5 A 215.5 |3 [$sEH
2351136717000139 | AR SCHE P | & B AR N BOR | B8 2% 4 215 |4 |[#lsEE
2351136717001424 | A SCH 4Pt | SCAERS B RAR N BOR | 88 2% 4 211 |5 [
2351136717000974 |BHSCHEFPe |7k T B AR N BOR | 8% 4 208.5 |6 |#misEK
2351136717001056 | #BSCHEE Pt | L WR i B AR N BOR | B8 % 4 202.5 |7 |#iFE
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2351136717000816 | AlG#R SCHE2E Bt (PR H B AR RN R 38 2%5 A4 202 |8 |mEK
2351136717000111 | AR SCH P |BR& B A B BOR |3l 5 A 198 |9 |#iFHE
2351136717000813 | ERSCIR5-Br | 441 0 B AR N BOR | 58 2% 4 198 |9 |#WhaEL
2351136717001183 | Al SCHE 4B [ A0 FR B B RAR N BOR | 88 % 4 196.5 |11 |3l
2351136717000114 | SCHE2ERE [#1R Hr R N BOR | 8% 4 193.5 |12 |#l5H
2351136717000822 | B SCEE B | FRAT B AR RN R 3825 A4 187 |13 |#hstEL
2351136717000817 [RUHRSCIE P | REER PR BOR 58 7% 4 186.5 |14 |#lsmn
2351136717001174 |RERSCIR B | SN 22 B AR N BOR | 88 2% 4 186 |15 |#WhatEL
2351136717001172 | leHR SCHE2E B (4] kR B AR RN R 38 2% A4 181 |16 |#FHE
2351136717000830 | SCER =R | X4 AR Hr AR N BOR | i85 176.5 |17 |#l5:H
2351136717000807 | Bl SCHE B | B4R N 4 B AR RN R (38 2%5 A4 176 |18 |#LhstHEL
2351136717000812 [ BB SCHE P | £ 4R BRI BOR 58 7% 4 176 |18 |#lsE
2351136717000820 |pERSCIR B | 51)F B AR N BOR | B8 2% 4 176 |18 |#WhaHEn
2351136717000809 | S#lSCHE 4Bt |44k B RAR N BOR | 88 % 4 175 |21 |#WSE
2351136717001427 R SCER =R (45 k4 B AR N BOR | 8% 4 172.5 |22 |#l5H
2351136717001069 | Al SCHL Bt | R ¥5 75 B AR N BOR | 8% 4 172.5 (22 |WI5HEL
2351136717000004 | 8 SCH B 15PN B A B BOR |3l 5 A 171.5 |24 |50
2351136717000815 |pERSCIR =P | 2L B AR N BOR | B8 2% 4 170 |25  |#WhatEn
2351136717001285 |RE#l SCHE2ERE | el B AR N BOR | 88 2% 4 169.5 [26 |l
2351136717001071 | RS SCER =R (BRI R Hr R N BOR | 8% 4 169 |27 |#WFEEL
2351136717001284 | l#R SCHL 2= B 0= dn B AR RN R 3825 A4 169 |27 |#FH
2351136717000819 | SCEL =R X1 WY I B A B BOR |3l 5 A 167 |29 |#l5HE
2351136717000808 | KA SCH Pt | B/= B AR N BOR | B8 2% 4 163 [30 |#WhaEn
2351136717001059 | R SCH 2= | 1 S1#E B AR RN R 3855 A4 162.5 |31 |#hH
2351136717001425 |RH#SSCERERT (R0 74 Hr R N BOR | 8% 161.5 |32 |#l5H
2351136717000810 | A#R SCHE2E Bt (AR A B AR RN R 38 2%5 A4 161 |33 |#FHE
2351136717001185 |8 SC3 P | R B AR B BOR | il 5 A 159.5 (34 |#l5H
2351136717001458 |pERSCIR B | XIFEZR B AR N BOR | B8 2% 4 159 [35 |#WhatE
2351136717001450 | Jle#R SCHE 22 B (XT3 B AR RN R 38 2% A4 159 |35 |#hgE
2351136717000947 |BCHSSCHE R | WREEE B AR N BOR | 8% 4 158 |37 |#lskHEe
2351136717000169 | BB SCEE B |FRbrE B AR RN R 38 2%5 A4 156.5 [38 |#Lhs:Hn
2351136717000811 | A SCHE Pt | RIR B A B BOR | il 5 A 155.5 (39 |4l
2351136717000942 | AR SCHE P |52 12 B AR N BOR | B8 2% 4 135.5 [40  |#LhsHEn
2351136717001439 |pERSCIR 5P | BE MY KT AR R 2R (878 5 AR 130.5 |41 |3
2351136717001058 |kl SCHE2ERE |70 ¥4 Hr AR N BOR | 8% 129 |42 |#lHE
2351136717001286 |l SCHE B | L /NN B AR RN R (38 2%5 A4 128.5 [43  |#Lhs:HEL
2351136717001454 | #B SO P | /N PR BOR 58 7% 4 125.5 |44 |3
2351136717000071 | B SCH R | R B RN T EOR [T R 186. 5 AT RS R L TR
2351136717001423 |pHfSCHE 2B [Fh OB R B [HoAb Gl WL |8 H A i i
2351136717000831 |l SCHEERE [ZEMER [ K AR HOR 1B S fuilE W B4+ i)
2351136717000833 |pHfSCH 2B [ £ B AR T EOR BB Sl W B
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2351136717001443 | Rl SCEE2ERE [ 2A P AR R EOR 1B il AR IS BB R iR .8
2351136717000832 | A8 SCHE Pt | 5K B AR B BOR | 1B 1% L e f il A WA R iRl
2351136717000379 [RERSCIR B [TLARFR FHIHE %A 241 |1 [#IFE
2351136717000122 | #lSCHE 4Bt | FH A AS FHHE WIEE 237 |2 [SEHK
2351136717000422 |l SCHE2ERE (3478 FHIHE g 236 |3 |#misE
2351136717000452 | BB SCIR Pt |54 B FHIHE %A 233.5 (4  [#WSE
2351136717000393 | A SCH P | R4 FHIHE il E A 231 |5 [ISEIK
2351136717000318 |M#BSCEE P | 1% FHIHA W% A 227 |6 [#FEX
2351136717000338 |pERSCI-Br | #hEk FHHE WIEE 226 |7 [#WSEX
2351136717000438 |R#HSSCH R (#K G FHIHE g 222.5 |8 |#misE
2351136717001008 |#BSCHEE Pt | 5K J1 7+ FHIHE WIE 222.5 |8  [SKHK
2351136717000436 |RH#SSCELERL (MR 24E FHIHE 5 229 |10 |#misgEK
2351136717000404 | A8 SCHE Pt |k A FHIHE %A 219.5 (11 [#IFE
2351136717000400 |R#l SCEE2ERE [BHE FHIHE WIEE 218.5 |12 [MSEHK
2351136717000421 |REH#ESCHE2ERE AN FHIHE g 218.5 |12 |#misHE
2351136717000113 [pERSCIR P (X 3£L5 FHIHE %A 217 |14 [WSE
2351136717000401 |BHSCHL R |Mlbesr FHIHE 5 216 [15 [ISRHR
2351136717000331 |pRERSCIR B | 150023 FHIHE W% A 215.5 (16 [#IFE
2351136717000325 |pERSCIR =B | B NG FHIHE WIEE 215.5 [16 [#WS5EX
2351136717000443 | AR SCHE Pt | B 44 FHIHE g 214.5 |18 [#isH
2351136717001122 [pCERSCIRSPr | F 44 FHIHE %A 214.5 [18 [#SHX
2351136717000160 |8 SCIH B | AR PR FHIHE 5 214 |20 [SEHK
2351136717000353 |pER OIS P |Bid: % FHIHE %A 212.5 (21 [#IFE
2351136717001260 |pCERSCHESPr | SL L% FHIHE WIEE 212.5 [21 [#ISEX
2351136717000431 |R#ESCER =R |2 FkE FHIHE il E A 211.5 123 [#ISRHEK
2351136717000313 |l SCHE2ERE | T3 FHIHE WIEEE 211.5 |23  [SEHK
2351136717000322 |BGHSCHLFRe | Xeth FHIHE 5 210.5 |25 |#isHE
2351136717001111 | AR SCHE P | 5K i FHIHE %A 210 (26 [#IFEX
2351136717000053 | S#lSCHE P | B FHIHE WIEE 209 (27 [WISEEX
2351136717000369 |BLHSSCHEFR | TRAFK FHIHE il E A 209 |27 |#misEc
2351136717000440 |pCERSCIRBr | RFTVD FHIHE %A 208.5 [29 [#SHEX
2351136717001370 |BHSSCHL R | PRIl FHIHE 5 206.5 [30 [#lEK
2351136717001356 | A8 SCHE P | 23 FHIHE %A 206 [31 [#FEX
2351136717000354 |pCERSCHE 5B | HF-F FHHE WIE 206 [31 [#WISEEX
2351136717001005 | SCELERL | 554 FHIHE g 205.5 (33 [#isE
2351136717001106 |RCHERSCHEBi [#4iK FHIHE %A 205 [34 [WISEX
2351136717000357 |pHl SCHE#P | #% 75 FHIHE 5 203.5 [35 [ISEHR
2351136717000165 |pUERSCIESPr (XEAS FHIHE %A 203 |36 [4mspEn
2351136717001130 [pCERSCIHRSBe | fo] MY A FHIHE WIEE 203 [36 [#WSEX
2351136717000433 | BCHSSCHEFR | R REEH FHIHE il E A 203 |36 |#misEK
2351136717000390 |#BSCHEF Pt | REE FHIHE WIEEE 203 136 [IMSEHK
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2351136717000167 |RCERSCIRSPr |44 5% 00 FHIHE 202 [40 [#WISEEX
2351136717001266 |RE#l SCHE2ERT | 4N FHIHE 201 (41 [WISEHR
2351136717001365 | A SCHL Pt | B H] FHIHE 201 141 [HWISEEK
2351136717000348 | #BSCHE Bt | ARis it FHIHE 200 [43 [WISEHK
2351136717000376 |R#fSCER R |5 H FHIHE 199.5 |44 |#SEEX
2351136717000922 | R ERSCIR P |4E 1534 FHIHE 199 |45 |#SRHK
2351136717000453 |8 SCH Bt | W fE#T FHIHE 198 [46  [#ISHHEL
2351136717000087 | #SCHE Pt | M7k FHIHA 197.5 147 |#WSEHK
2351136717000320 |pERSCIR =B | e GRG0 FHHE 197 148 |#sHK
2351136717000455 |BHSSCHEFRE | 2K FHIHE 197 148 |#ISREX
2351136717000406 |RCHERSCHE-Bi (0% FHIHE 197 148 |#WSRHK
2351136717000332 | A SCHE 4P | A A FHIHE 196.5 |51 |fWISEX
2351136717000005 |pERSCIRS-Pr |7k (R FHIHE 196.5 |51 |#WSEHK
2351136717000398 |8 SCH Pt |H/%ibMR | #HT#E 196 |53 |
2351136717000304 |p#l SCHE Pt | & FHIHE 196 |53 |WSRER
2351136717000414 | A8 SCHE P |47 A FHIHE 195.5 |55 |
2351136717000095 |BHSCHL P |#HEES FHIHE 195 |56  |fWISRER
2351136717000346 | BB SCIR B | X1 545 FHIHE 195 156 |#WSHK
2351136717001135 |pERSCIR B | FAEFH FHIHE 195 156 |
2351136717000463 |l SCHE2ERE [ 4T FHIHE 194.5 159  |#WSRER
2351136717001268 | A SCHE P | 2=k FHIHE 194.5 |59 |
2351136717000926 | SCER =R (B A4 FHIHE 193.5 |61 |#ISRER
2351136717000343 |pCERSCIR P | 4=45 W FHIHE 193 162 |#WSEHK
2351136717000126 |RE#l SCHE2ERE [Tk FHIHE 193 [62  [#ISHHEL
2351136717000374 |BLHSCHEF R | Mk == FHIHE 192.5 164 |#ISEEX
2351136717000449 [pCERSCHR B [B405 & FHIHE 192.5 [64 [#ISHHEL
2351136717000330 |R&#SSCHL R |10 FHIHE 191 |66 |WISEEX
2351136717000447 | AR SCHE P [T FHIHE 191 166 |#SEHK
2351136717000386 | S#lSCHE P | R4k FHIHE 190 [68 [
2351136717000054 |BHSSCHE R | Tk 4EA FHIHE 190 168  |fUISER
2351136717000347 |Gl SCHE2ERE | ¥ & FHIHE 189.5 [70 [#ISEHR
2351136717000424 |RHSCERERE & 87 FHIHE 189.5 |70 |WSEX
2351136717000163 [pER OIS Pr | RA2H FHIHE 189 |72 |#WRHK
2351136717000437 |BHl SCHE P |# 3 FHIHE 189 |72 |[#ISHHER
2351136717000380 |l SCEL =R [4F Mk FHIHE 188.5 |74 |SEEX
2351136717000012 |pRERSCIR 2B | 4 ik FHIHE 188 |75 |
2351136717000462 | Rl SCHE2ERE ] FHIHE 187.5 |76  |#WISEEX
2351136717000435 | AR SCHEF Pt | ZRE7 I FHIHE 187 |77 [#WSEEL
2351136717000929 |pERSCIR B | 2k FHIHE 187 |77 |
2351136717000936 |8 SCER# Bt | FhiRLs FHIHE 187 |77  [#WISHHE
2351136717000372 | AR SCHL 4Bt | E A7 4h FHIHE 187 |77 |[#ISEHEL
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2351136717000044 |#BSCHEE Pt | EaE D FHIHE 187 |77  |[#ISHHE
2351136717000434 |p#l SCHE %P | £ 45 FHIHE 186.5 |82 |fUISEEX
2351136717000460 |p#ERSCIR 5P | A FHIHE 186 183 |#WSHK
2351136717001114 |pERSCIR B | 9205 FHIHE 185.5 |84 |#sHK
2351136717000161 |R#fSCER =R (44155 FHIHE 185.5 |84 |fUISEEX
2351136717001126 |KARSCHEF P |BXI0 FHIHE 185.5 |84 |#SRHK
2351136717001197 |R#FSCEL =R (4] T4k FHIHE 184.5 |87 |WISEEX
2351136717001125 [pCERSCIRS-Pr |FAEER: FHIHA 184.5 |87 |#WHK
2351136717000078 [RCERSCHE B (Rl & FHHE 183.5 189 |#sHK
2351136717000355 |RE#lSCHE2ERE | K FHIHE 183.5 |89 |fUISHEX
2351136717001437 BB SCHEBi iR RY FHIHE 183.5 |89 |
2351136717000363 | BCHSCHLF P | B 5e4E FHIHE 183 192 |#ISEREX
2351136717000943 | BRSO3 2B | #+5 FHIHE 183 192 |#WEHK
2351136717001127 [pCERSCHRSBe (X iE 4z FHIHE 182.5 194 |#sHK
2351136717000152 | R SCER =R (G025 F FHIHE 182.5 194 |#SEEX
2351136717000364 |RCERSCHEFe (ke & FHIHE 182 196 |#SRHK
2351136717000339 |Gl SCHE2ERE BhHE FHIHE 182 196 |WSEEX
2351136717000895 | #l SCHE 4 F | XS A FHIHE 181.5 (98 [#WIHEL
2351136717000923 | #BSCHE Pt | HENR Bt FHIHE 181 [99 [#ISHEL
2351136717001252 | Bl SCER =R | BRBCES FHIHE 181 199 |#W5EEK
2351136717001247 BB SCHEBi | £ 5E FHIHE 181 199 |
2351136717000399 |BCHSCHL R |mifEth FHIHE 180. 5 (102 |54
2351136717001146 |pERSCIRSPr | E LA FHIHE 180 1103 |#W5HK
2351136717000425 |pCERSCHESPr |k FHIHE 179.5 [104 [#ISHHEL
2351136717000445 | AR SCHE P | MRk #k FHIHE 179.5 1104 |#EHK
2351136717000430 |pERSCIR B | 082 FHIHE 179 [106 [#ISHEL
2351136717001102 |BHSCHL PR | 7K ipAE FHIHE 179 1106 |#W5REX
2351136717001105 | AR SCHE Pt | J& W FHIHE 178.5 1108 |#5HK
2351136717000932 | BB SCHE B (¥4 k5 FHIHE 178 [109 [#ISHEL
2351136717000146 |BHSSCHEFRE | 75 M ek FHIHE 177 (110 [#SEEL
2351136717000105 |pRERSCIR 5P | w44 FHIHE 176.5 [111 [#ISEHEL
2351136717000315 |R#fSCE R | £ 52 FHIHE 176.5 (111 [#REL
2351136717000385 | A SCHE P |1 ik FHIHE 176 113 |#WSEH
2351136717001359 | Al SCH 4Pt | 5 3 FHIHE 176|113 |#ISEEK
2351136717000336 | #8 LI F | 2245 FHIHE 175.5 115 |#HK
2351136717000461 |pCERSCIR P |22 Uk FHIHE 174.5 [116 [#ISEHL
2351136717000382 | BC# SCHE P |BRAE FHIHE 174|117 |#ISEER
2351136717001109 | KA SCHE P | XIER FHIHE 173.5 118 |#WEHK
2351136717000396 | BB SCIRS-B | 415 R ik FHIHE 173.5 [118 [#ISHEL
2351136717000371 |BCHSCHEFRe | TR EAT FHIHE 173.5 (118 [#HEL
2351136717000335 | A SCHE Pt | A FHIHE 172|121 [#ISEEL
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2351136717000375 | AR SCHE P | I BE: FHIHE 172|121 [#ISEEL
2351136717001373 | A SCHE 4Pt | R BT A FHIHE 172|121 |#ISERER
2351136717000373 |pCERSCIR4- P | T & B FHIHE 171.5 124 |#WH
2351136717000022 |pERSCHE 5B | 75k FHIHE 170.5 [125 [#ISEHEL
2351136717000378 |BHSCHEF R | 5 el FHIHE 170.5 [125 [#I5EL
2351136717000397 |pRERSCIRZ-Br | ] e ¥4 FHIHE 170 [127 [#ISEHEL
2351136717000429 |BCHSSCHEFRr |42 okttt FHIHE 170 127 |#SRER
2351136717000076 |RERSCIR B | FAAED FHIHA 169.5 1129 |#HK
2351136717000327 | AR SCHE P | o i FHHE 168 [130 [#ISHEL
2351136717000074 |RE#ESCHE2ERE X8k FHIHE 168 [130 [WI5HEL
2351136717001251 |pRERSCIR =B | A ET U FHIHE 168 [130 [#ISEHEL
2351136717000417 |RH#ESCER =R (5 w9 28 FHIHE 167.5 133 |#ISREX
2351136717000137 | Bl SCHE P |25 FHIHE 167.5 (133 [#SEL
2351136717000317 | A8 SCHE Pt | di FHIHE 167 [135 [#ISHEL
2351136717000432 | RS SCER =R | o FO FHIHE 167 [135 [#EL
2351136717001461 |pCERSCIR B | BLH T FHIHE 166 [137 [#ISHEL
2351136717000368 | SCEL =BT |25 Ak FHIHE 166|137 |ISREX
2351136717000337 | AR SCHE Pt | UE FHIHE 165.5 1139 |#HK
2351136717000418 | A SCH 4Pt |FERE FHIHE 165 140 |#ISEEX
2351136717000314 |BHSCHEFRE | B R FHIHE 165 (140 [#HEL
2351136717001259 | A SCH Pt |01 /= 2 FHIHE 164 142 |#ISEEX
2351136717000464 |l SCHE2ERE [ 4F FHIHE 164 142 |#ISEEY
2351136717000935 | AR SCHE4FE | k5L FHIHE 164 [142 [#SEEL
2351136717000045 |RCARSCHES B [ & d FHIHE 163.5 [145 [#ISHHEL
2351136717000324 |BLHSCHEFRe |44 FHIHE 162.5 (146 |5 HL
2351136717000428 | #SCHL P | 2 It FHIHE 162 [147 [#ISEEL
2351136717001120 |RE#FSCHE2ERE (24535 FHIHE 161.5 148 |#ISEHEX
2351136717000360 |RCERSCIRFe |7k T5-F FHIHE 161 1149 |#WEHK
2351136717000352 | #SCHE P | BESC FHIHE 160.5 [150 [#IS¢HEL
2351136717000361 |8 SCER Bt | 574X FHIHE 159.5 151 |
2351136717001123 | AR SCHE Pt | FHEH FHIHE 159 [152 [#ISEHER
2351136717001256 |Gl SCHE2ERE 3545 FHIHE 158.5 153 |fUlSHX
2351136717000340 | AR SCH 4P | —F FHIHE 158. 5 [153 |5 HEL
2351136717000367 |pERSCIRS-Pr | 1515 FHIHE 158 [155 [#ISEHER
2351136717000451 | AR SCHEF Pt | FHIHE 158 1155 |#WsHK
2351136717000046 |pERSCIRS-Br | DR FHIHE 156.5 [157 [#ISEHER
2351136717000408 | SCEL =BT (522 FHIHE 156.5 |157 |WIS%HER
2351136717000937 | AR SCH Pt | M E %5 FHIHE 156 [159 [#W5HEL
2351136717000444 |pERSCIRSBr | B0 1T FHIHE 156 [159 [#ISEHEL
2351136717000159 |RH#SSCER =R [ K15 FHIHE 155. 5 [161 [#I5EL
2351136717001113 | AR SCHE P | X B FHIHE 155|162 |[#ISHEL
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2351136717000976 [RGB SCIR P | 2458 FHIHE %A 155 [162 [#ISEHEL

2351136717000356 | SCER =R |67 8 FHIHE il 155  |162 |#l5:H

2351136717000415 |p#lSCH2ERE [Tk EHIHE L plikgaa 155 1162 |

2351136717000060 | S#SCHE P | 14 FHIHE WIEE 154 |166 |#hFH

2351136717000409 |R#E SCHEERE | 4Rk FHIHE g 153|167 |#l5H

2351136717000377 |l SCHE2ERE [ H FHIHE WIEE 153|167 |3l

2351136717000442 | AR SCH 4P | B> FHIHE il E A 153|167 |#l5H

2351136717000166 |pCERSCIEFr |HH & FHIHE W% A 152 170 |#WSHK

2351136717000967 |#BSCHE P | L= FHIHE % 151|171 [#S5EEL

2351136717000149 | AR SCH Pt | RAEE FHIHE g 151|171 |#l5E

2351136717001112 |pEFSCHE#P | ke B EHIHE Lo plikgea 151|171 |WSRIR

2351136717000407 | B SCER Bt |30 FHIHE 5 151 171 |#WSEH

2351136717001003 |pERSCIR B |84 4514 FHIHE %A 149.5 (175 |#h5H
2351136717000366 |p#l SCHE %P |42 75 FHIHE L gk 149.5 [175 [#SEL
2351136717001110 |REHFSCHE2ERE (2504 FHIHE g 148.5 |177 |#l5H

2351136717001108 [pCERSCIR P DM FHIHE %A 148.5 (177 |#hFH

2351136717001441 | ARSCH 4P |32 B 19 FHIHE 5 148.5 |177 |#l5H

2351136717000441 |p#R SCHE P | X1 22 EHIHE JEY SRV S 219 PISRHC | @R 7R T4
2351136717000365 |/ #RSCHE2ERE TN B E ALK 207.5 USRS R TR
2351136717001140 |p#FSCHE P | TkiR FHIHE BRI R 184. 5 W E | EE TR
2351136717000454 | Bl SCHE# P | Hji S EHIHE ERSLR 177.5 USRS AR TR
2351136717000069 | SCEL =R [UFtpk FHIHE [EY AR S 177.5 e ey VAR |
2351136717000416 | AR SCHEERE |42 EHIHE ALK 176 PSR | # R R T4
2351136717001103 | Bl SCHE P | AEBH 5% B E ALK 168. 5 USRS R TR
2351136717000958 | Ml SCHE Bt | 04 55 K] FHIHE LA S 163.5 G e VAR S 5 |
2351136717000319 | AR SCHE B | =i Bk FHIHE FoAth F il A PLEEL |8k ik gt i
2351136717000155 | SCER=RE | B Miv FHIHE FoAth Sl A P Bk ik it B
2351136717000459 | #lSCHL 4P | 2245 FHIHE FoAth Sl A PR |8k ik gt i
2351136717000423 | Bl SCEL =R | B FHIHE FoAth Sl A PSR |8 1 K S RIS
2351136717000370 |p#l SCHE P | e FHIHE FoAth G ik AR W Bk ik it B
2351136717000394 | #BSCHE Pt |BEVE IS FHIHE FoAth F il A PLEEL |8k ikt gt i
2351136717000387 |l SCEL =R [0t FHIHE FoAth Sl A P Bk ik it B
2351136717000910 | Bl SCHE P | i2E FHIHE FoAth Sl A LR |8k ik gt i
2351136717000344 | #BSCHE Pt | £ A FHIHE FoAth f il A PLEEL |8k ikt gt i
2351136717000995 | Al SCHE Pt | 20 FHIHE FoAth G ik AR W Bk ik it B
2351136717000024 | AR SCHE 4Pt |0/ FHIHE FoAth F il A PLEEL |8k ikt gt i
2351136717000079 | B SCEL =BT | 4G4 FHIHE FoAth Sl A P Bk ik it B
2351136717000342 | A8 SCHE B | BT FHIHE FoAth Sl A PR |8k ik gt i
2351136717000988 | Bl SCHE P |4RUL FHIHE Fofth b i AE PSR | P K il i L
2351136717001119 | AR SCHE P |#o6 a0 FHIHE FoAth G ik AR W Bk ik it B
2351136717000316 |Gl SCHE2ERE (78 FHIHE FoAth F il A PLEEL |8k ik gt i
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2351136717000334 | B Al LI | 7K 5 FHIHE Hopth G il E W |8 H A i i
2351136717000183 |l SCHE 2= Bt |5k 406 FHIHE HoAth il E W |80 h iR B
2351136717000984 |l SO (5K 2550 FHIHE HAb Gl 4 W |8 H A A i
2351136717001245 | SCHERE (AE/NF FHIHE B W B R s
2351136717000427 | MR SCHLERE (R FAL FHIHE Bk WL B R s
2351136717000153 | B SCER Bt | 1E LR 1% B AR S pliEas 174 |1 |wagm

2351136717000033 | BHE SCHEERE | 7 /7 TR kg 171.5 |2 |swgm

2351136717000918 | ARSI B | BRID I ORI HEH 166.5 |3 |#lsgm

2351136717000230 |BHSSCHLFPr | 2R BE AR il 165.5 |4 |

2351136717000997 | ARSI~ |ER B AR A 165 |5 |#wam

2351136717001151 | SCH B |1RFI1S B AR S plias 165 |5 |wgm

2351136717001147 |BGHSCHLFRE | B 0858 B AR 5 162 |7 |wgm

2351136717000072 | AR SCHE P | M8 AR S pliigas 161.5 |8 |#lsm

2351136717001148 | SCER =R | XA Bk AR il 157.5 |9 |

2351136717000222 | RS SCER =R | T 1ids B AR g 156.5 |10 |3l

2351136717000908 | L SCHE e | Jil S ORI HEH 150 |11 |

2351136717000897 |R#fSCEL =BT (%2 B AR 5 148.5 |12 |3

2351136717001447 |RGHSCERERL P54 AR il E A 145.5 |13 |3m

2351136717000219 | #BSCER Bt | BHAHIE B AR il 145 |14 |wgm

2351136717000217 | B8 SCHEAE 5 | Bk ORI Tl 144.5 |15 |3

2351136717000226 | F#BSCERF Bt |84 55 A B AR S plias 143.5 |16 |33

2351136717000228 | Bl SCHE P |5 B AR 5 139 |17 |3

2351136717000220 |8 4Fe |21 A AR S pliikas 137 |18 |#lsm

2351136717001155 | SCER =R |4 A B AR i 135 |19 |

2351136717001154 |BCHSCHEFRE | R E B AR il E A 133.5 [20 |3l

2351136717000225 | ARSI P |14 B AR S plias 133 |21 |wgm

2351136717000236 |RHSCHL R (455 B AR 5 132.5 |22 |3

2351136717001445 | SCHER Pt | X5 AR RE AR 130.5 (23 |#hatHEn

2351136717000231 |BHSSCHEFRe | 70 A3 T RRE i 127.5 |24  |#ISEEK
2351136717000216 |Fe#lSCHE 2t [ 5K 7 5 ORI Tl 127 |25  |dUhsEHR

2351136717001150 |BHSSCHLFPe | Je—im AR RE e pikges 126 |26 |#ISEEX

2351136717001152 |F#BSCH R ({10 TR LRk 123.5 |27 |3

2351136717001225 |8 SCER Bt |2 R iR AR S pliias 122.5 |28 |#lsm

2351136717001223 | Rl SCHE2ERE (255 AR il 119.5 |29 |sigm

2351136717000229 |l SCHE2ERE | Xk B AR g 117.5 |30 |3

2351136717000010 |Re#B CER Bt |BEEAR B AR S plias 117.5 [30 |3z

2351136717000177 |HASSCHLERE | 7555 TR ke 110 |32 |swgm

2351136717001224 |8 SCI 4B |FRIUAT AR S pliikas 106.5 |33 |#lsgmn

2351136717001229 | BCHSSCHEFR | XM & AR i 103.5 |34 |sigE

2351136717001227 |REH#ESCHE2ERT | B B AR il E A 103.5 [34 |3

2351136717000221 | AR SCHE P {150 B AR S pliEas 101 |36 |swgm
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2351136717001149 | R SCHERE | T A AR RE FEYERVAS S 98 37 |#gEm

2351136717000077 |F#SSCHEERE [ BT W | & AR R AL R 97.5 |38 |#lFE

2351136717000227 | 8 SCI 4B | A7 &7 AR S pliikas 97.5 |38 |#igtm

2351136717000224 | #BSCHEE Pt | 36 2 ik AR L gk 94.5 |40 [IUSEHK

2351136717001226 |RHSCHLERE [Tk A Z B AR g 87.5 |41 |#mizEK

2351136717000223 |l SCHE2ERE | F5HE HIRRIE FoAth F il A PLEEL |85k ik gt i
2351136717001153 | Rl SCHEERE | 4=k B AR FoAth Sl A PSR |8k et s
2351136717001156 |#BSCHEF Pt | 502 AR FoAth Sl A LR |8k ik gt i
2351136717000475 |pERSCIR B | FAEHE RIAE WIEE 210.5 |1  [#WSEX

2351136717000043 |RH#SCEL R [ RFA RIAE g 194 |2 |#lsE

2351136717001096 | Al SCHE 4B | EAK RINAE WIE 189.5 |3 |3l

2351136717000448 | Rl SCHEERE | Tk RIAE 5 189 |4 |#WISEEK

2351136717001098 [RERSCH P |2 7% H RINAE S pliigas 188 |5 |#WFEH

2351136717000456 | S#SCHE P | F A RIAE WIEE 187 16 |

2351136717001101 |pE#SSCHR R (el 2% RIAE g 178 |7 |#lgHE

2351136717000467 | #SCHE P | 20 RINHE %A 174 |8  |#WsHK

2351136717000474 |BLHSCHE R | R BE RIAE FoAth Sl A PSR |8 K S RIS

227 i, 27 W




